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Topic-Trigonometric Ratios(TR & Table) Name- Class-1X (Foundation)
MCQ’s question
1. InAPQR, right angled at Q if R = 6 then the value of 15. If tan § = & then 3Sin0=bcosby
25(sin%0 + 2cos?0 —tan ) is : az+bf asmé_ﬂjws eaz_bz
(i) 2/3 (ii) -2/3 (iii) 3/2 (iv) -3/2 0 = (i)
2. In AABC, right angled at B if tan 4 = /3, then (i) -2 iv) 2
a?+b? a?+b?
cosAcosC —sinAsinC = (7 sin =3 cos 6)
) N 3 16. If 7tan @ :4thenm
@ -1 (i) 0 (i) 1 (V)5
i ii iii iv
i 1/7 ii 5/7 3/7 iv) 5/14
3. Ingiven figure if PS=14 cm, then the . The value of sin @ lies between-
value of tan a is equal to (i) -1<sinf<1 (ii) 1<sinf <2
(i) 4/3 (i) 43 T (iii) any real no (iv) always greater than 1
(iii) 5/3 (iv) 133 . The maximum value of ﬁ is
P i 1 i) -1
4. If sinx + cosec x = 2 then sin'%x + cosec?°x = (i) -1tol (iv) o or not define
@ 2 (i) 220 (i) 2 (iv) 23° 19. The value of cot 8 is
5. Ifcotf = \/i_ then the value of (sec? 8 + cosec? 6) is () -1<cotfd=<1 (ii)1<coth =<2
_ > _ & (i) anyrealno  (iv) always greater than 1
@) 1 (i)~ 40/8 (i) 38/9 (V)55 20. If AABC is right angled at C, then the cos(A + B) is
6. Giventhat, sec6 =2, then the value of “-o22 s G o (i) 1 (i) 12 (iv) V3/2
i 2vZ (i) ~VZ (i) 3vZ (V)2 21. If a, B are acute, sina = and cos § = 2 thena + B
7. If4tang = 3, then 5(*=2) is is
@M 1 (i) 34 (i) 54 (v)3 () 807 @) 607 (i) 90° - (iv) 1207
8 Given that sin g = %then cos 6 iis equal to 22. If sin6 — cos 9"= 0 then the Va_I_L_Je of sin*6 + cos 0 is
= i 1 (i) 3/4 (iii) 1/2 (iv) Ya
i) = (I R o 23. The Valie of -2£2260°
Zm Z ' 1+tan?60°
(iii) = @ &= G 12 (i) V3/2 Gii))  1V2Z (iv)V3
9. Inthe given figure, D is the mid-point 24. Given that coseca = % andtan g = \/% then
(-)f BC, then thej_value of cot y%lcot x° is.C 5 5 cos(a —B) s
M o @1 @) (v)3/2 0 12 (i) V3/2 (i) INZ (V)0
10. If sin® — cos 8 = 0 then the value of sin*6 + cos*8 is 25. If sin(A + B) = cos(d — B) = 1, then
M 1 () 34 (i) 12 (iv) 14 ) A=B=0° (i) A=B=45°
11. |f 512n 0+ COSG(ZI 0 '= 2 then the value of (III) A=60°, B=30° (IV) A=90°, B=60°
Sin“0 + cosec®@ isequalto . 26. In APQR right angle at Q, PQ = 3 cm and PR = 6 cm
i 12 (i) 1 (iii) . 2 (iv) 3/4 then 2QPR is
12. If 4tan 8 = 3, then the value of %' (i) 30° (i) 0° (i) 45° (i) 60"
@ O (ii) 1/3 (i) 2/3  (iv)3/4 Assertion and Reason
cosf-sin® _ 1-y3 . Direction: In the Following Questions, A Statement of
13. 17 cosO+sin®  1+v3 then the value of acute tan 6 is Assertion (A) Is Followed by A Statement of Reason
(i) 13 (i) 1 (ii)V3 (iv) NOT (R). Mark The Correct Choice As
14. If sin@ = gthen what is the value of tan @ 27. Assertion(A) :The value of each of the trigonometric

(i) 5/2 (i) 5W/6  (iii) 5/2v6  (iv) NOT

ratio of an angle do not vary with the length of the sides
of the triangle, if the angle remains the same.
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Reason(R): In right angle triangle, if B = 90°%and
LA=9,sin9=E<1and cos(9=A—B<1as
AC AC
hypotenuse is the longest side.
(a) Both assertion (A) and reason (R) are true and reason
(R) is the correct explanation of assertion (A).
b) Both assertion (A) and reason (R) are true but reason
(R) is not the correct explanation of assertion (A).
c)Assertion (A) is true but reason (R) is false.
d)Assertion (A) is false but reason (R) is true

28. Assertion(A) :In APQR right angled at Q, PR — PQ =1

cmand QR = 3 cm. The value of sin?R + cosec R is

189

100

Reason(R): sin?A = (sin A)? and cosec A= (secA)™!

(a) Both assertion (A) and reason (R) are true and reason
(R) is the correct explanation of assertion (A).

b) Both assertion (A) and reason (R) are true but reason
(R) is not the correct explanation of assertion (A).

c)Assertion (A) is true but reason (R) is false.

d)Assertion (A) is false but reason (R) is true

29.
30.

The value of sin 8 or cos 8 never exceeds.................
In a triangle APQR, 2PQR = 90°. If tanR = /3, then
find the value of sin P.cosR — sinR.cosP.

3 5cosecf—4tan 6
If cos 8 = =, find value of (—)
5 secO+coth

31.

32.

If 5cot® = 3, find (M)

4sinf+3cos6

33. Ina AABC, it is given that2C = 90°, and tan4 =
ig, find the value of (sin A cos B + cos A sin B).
3-4sin?0 _ 3-tan?6

4c0s260-3  1-3tan26’

15 2+2sin 0)(1-sin®
If cotd =5 evaluate (2+2 st PRIgsing)

(1+cos6)(2-2cos 9)/
2
If 3 cot A = 4, find the value of S 256

osec2A-1 ¢*

34. If sec@ =%, show that

35.

36.

37.

If 4tan 6 = 3, evaluate (4Sin9‘°059+1)

4sinf+cosf—-1
sin?6—cos?0 1
tan26’

38.
39.

If sin@ = 2 then Evaluate £

13 2sinf.cos @
In fig. AD=DB and 4B is a right angle
(ii) cos 8 (iii) tan@

If 6 is an acute angle and tan 8 + cot8 = 2, then Find

Determine (i) sin@
40.

the value of tan’8 + cot’6

3c0s%0+2cos 6
3cosO+2

41. 1f /3sin @ = cos 8, then Evaluate

42.

43.

44,

45.

46.

47.

48.

49.

50.
51.

52.
53.

54.

55.

56.

57.
58.

59.

60.
61.

62.

63.

64.

65.

In triangle ABC if 2B is right angle and A = 6 then
prove that (i) sin?6 + cos?8 =1

(i) 1 + tan?8 = sec?0
If cosA = % then find the value of

(i) (tanA 4+ cotA)  (ii) (sinA + cos A) secA.

In APQR, right angled at Q, PR+QR=25cm and PQ=5
cm. Determine the value of sin P, cos P and tan P

If cotB = % then prove that

tan?B — sin®B = sin*B.sec?B

In triangle ABC if 2B is right angle, BC =7 cm and

AC - AB = 1 cm. Find the value of cos 4 + sin A.

2
4

15

If tan A = V2 — 1 then show that sin A.cos A =
cos?0—sin?6

If 21 cosec 8 = 29 then Evaluate —
1-2sin%6

1-tana

5
If seca = =, Evaluate
4 1+tana

If sin® = cos @, then find @
Simplify sin 60°. cos 30° + cos 60°.sin 30°

5c05260°+4sin?30°—tan?45°

sin30°+co0s 60°
If tan(4 + B) = V3 and tan(4 — B) = —, then find
the value of A and B.
Prove that (i) (v3 + 1) (3 — cot30°) = tan®60° —
2tan 60°.
Evaluate 4(sin*45° + cos*45°)? — 2(tan?30° +
cot230F +cosec245°.
If cot 3¢ = 1/+/3 then find the value of ¢
If V3 sin 20 = 3/2 then find the value of 6
If tan (3x — 15) = 1 then find the value of x.
Prove that (V3 + 1)(3 — cot30°) = tan®60° —
2tan60°.

If 2 cos (%) = /3, then the value tan A
Evaluate : 4(sin*45° + cos*45°)? — 2(tan?30° +
cot230° +cosec245°.

In APQR, right angled at Q, PR+QR=25cm and PQ=5
cm. Determine the value of sin P, cos P and tan P.

If v/3 sec(3x — 21°) = 2, then find the value of
sin?(x + 13)° + cot?(x + 13)°.

An equilateral triangle is inscribed in a circle of
diameter 24 cm. Find its side.

If 4cos?A — 3 = 0, show that cos 34 = 4cos3A4 —

3 cos A.

Evaluate
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